. MIAMI-DADE COUNTY, FLORIDA
W@ METRO-DADE FLAGLER BUTL.DING

BUILDING CODE COMPLIANCE OFFICE
METRO-DADE FLAGLER BUTLDING

140 WEST FLAGLER STREET, SUITE 1603
MIAMI, FLORIDA 33130-1563

PRODUCT CONTROL NOTICE OF ACCEPTANCE (303) 375-2901 FAX (305) 3752908

Duraframe 2000, Inc. CONTRACTOR LICENSING SECTION
6001 Georgia Avenue (Suite 9) (305) 375-2527 FAX (305) 3752558
West Palm Beach ,FL. 33405 CONTRACTOR ENFORCEMENT DIVISION

(305) 375-2966 FAX (305) 3 75-2908
PRODUCT CONTROL DIVISION
(305) 3752902 FAX (305) 372-6339
Your application for Notice of Acceptance (NOA) of:
"Duraframe 2000 Retrofit" Extruded Aluminum Storm Panel Shutter
under Chapter 8 of the Code of Miami-Dade County governing the use of Alternate Materials and Types of
Construction, and completely described herein, has been recommended for acceptance by the Miami-Dade
County Building Code Compliance Office (BCCO) under the conditions specified herein.

This NOA shall not be valid after the expiration date stated below. BCCO reserves the right to secure this
product or material at any time from a jobsite or manufacturer's plant for quality control testing. If this
product or material fails to perform in the approved manner, BCCO may revoke, modify, or suspend the
use of such product or material immediately. BCCO reserves the right to revoke this approval, if it is
determined by BCCO that this product or material fails to meet the requirements of the South Florida
Building Code.

The expense of such testing will be incurred by the manufacturer. %/ %43/2

ACCEPTANCE NO.: 01-0206.24

EXPIRES: 04/09/2006 Raul Rodriguez
Chief Product Control Division

THIS IS THE COVERSHEET, SEE ADDITIONAL PAGES FOR SPECIFIC AND GENERAL
CONDITIONS
BUILDING CODE & PRODUCT REVIEW COMMITTEE

This application for Product Approval has been reviewed by the BCCO and approved by the Building
Code and Product Review Committee to be used in Miami-Dade County, Florida under the conditions set

forth above. /
Francisco J. Quintana, R.A.
Director
Miami-Dade County
APPROVED: 04/23/2001 Building Code Compliance Office

W\s0450001\pc2000\\templates\notice acceptance cover page.dot

Internet mail address: postmaster@buildingcodeonline.com @ Homepage: http://www.buildingcodeonline.com



Duraframe 2000, Inc. ACCEPTANCE No. : 01-0206.24

APPROVED : 04/23/2001

EXPIRES : 04/09/2006

NOTICE OF ACCEPTANCE: SPECIFIC CONDITIONS

1. SCOPE
This revises and renews the Notice of Acceptance No. 97-1118.22, which was issued on April 9,
1998. It approves a “Duraframe P-20” Storm Panel Shutter, as described in Section 2 of this Notice
of Acceptance, designed to comply with the South Florida Building Code, 1994 Edition for Miami-
Dade County, for the locations where the pressure requirements, as determined by SFBC Chapter
23, do not exceed the Design Pressure Rating values indicated in the approved drawings.

2.  PRODUCT DESCRIPTION

This “Duraframe P-20” Storm Panel Shutter and its components shall be constructed in strict
compliance with the following documents: Drawing No. 01-078, titled “Duraframe 2000 / Retrofit”,
prepared by Tilteco, Inc., dated April 18, 2001, last revision #1 dated April 18, 2001, sheets 1, 2,
2A,3,4,5,5A,6,7,8,and 9 of 9, signed and sealed by Walter A. Tillit Jr., P.E., bearing the Miami-
Dade County Product Control Approval stamp with the Notice of Acceptance number and approval
date by the Miami-Dade County Product Control Division. These documents shall hereinafter be
referred to as the approved drawings.

3. LIMITATIONS
All permanent set components, included but not limited to embedded anchor bolts, threaded cones,
metal shields, headers and sills, must be protected against corrosion, contamination and damage at
all times.

4. INSTALLATION
This “Duraframe P-20” Storm Panel Shutter and its components shall be installed in strict
compliance with the approved drawings.

5.  LABELING
Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved".

6. BUILDING PERMIT REQUIREMENTS
6.1 Application for building permit shall be accompanied by copies of the following:

6.1.1 This Notice of Acceptance.

6.1.2  Duplicate copies of the approved drawings, as identified in Section 2 of this Notice of
Acceptance, clearly marked to show the components selected for the proposed
installation.

6.1.3  Any other documents required by the Building Official or the South Florida Building
Code (SFBC) in order to properly evaluate the installation of this system.

Ylbors J flln

Helmy A. &44kar, P.E. -Product Control Examiner
Product Control Division

-2-



Duraframe 2000, Inc. ACCEPTANCE No. : 01-0206.24

APPROVED : 04/23/2001

EXPIRES : 04/09/2006

NOTICE OF ACCEPTANCE: STANDARD CONDITIONS

Renewal of this Acceptance (approval) shall be considered after a renewal application has been filed and the
original submitted documents, including test-supporting data, engineering documents, are no older than eight
(8) years.

Any and all approved products shall be permanently labeled with the manufacturer's name, city, state, and the
following statement: "Miami-Dade County Product Control Approved", or as specifically stated in the
specific conditions of this Acceptance.

Renewals of Acceptance will not be considered if:

a.  There has been a change in the South Florida Building Code affecting the evaluation of this product
and the product is not in compliance with the code changes.

b.  The product is no longer the same product (identical) as the one originally approved.

c.  Ifthe Acceptance holder has not complied with all the requirements of this acceptance, including the
correct installation of the product.

d.  The engineer, who originally prepared, signed and sealed the required documentation initially
submitted, is no longer practicing the engineering profession.

Any revision or change in the materials, use, and/or manufacture of the product or process shall automatically
be cause for termination of this Acceptance, unless prior written approval has been requested (through the
filing of a revision application with appropriate fee) and granted by this office.

Any of the following shall also be grounds for removal of this Acceptance:
a.  Unsatisfactory performance of this product or process.
b.  Misuse of this Acceptance as an endorsement of any product, for sales, advertising or any other

purposes.

The Notice of Acceptance number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the Notice of Acceptance is
displayed, then it shall be done in its entirety.

A copy of this Acceptance as well as approved drawings and other documents, where it applies, shall be
provided to the user by the manufacturer or its distributors and shall be available for inspection at the job site

at all time. The engineer needs not reseal the copies.

Failure to comply with any section of this Acceptance shall be cause for termination and removal of
Acceptance.

This Notice of Acceptance consists of pages 1, 2 and this last page 3.
END OF THIS ACCEPTANCE
e A 4 fn

Helmy A. ¥fakar, P.E. -Product Control Examiner
Product Control Division

-3-



4,500™" } 3.500™

4.500™

1.048" ]

283 "——I ne

2.250"

—f 047"
1.048" - k
2.250" -050 S

007"+
]

.072

——I |-— 142"

—wd f—  OBO"

—=] e 100"

——| |-—.142'

8
i
=

35
|

H

o]

——' '——- 142*

. 4

DETAIL 11—

J - 100"

~

= 5

EXTRUSION DIE UNF- (I EXTRUSION DIE UNF- (i73

SCALE : 1/2" = 1” SCALE : 1/2" = 1°

ul

=1 125" . _
DETAL ,_) N (SR L_u

.050™ a

251

563

ha—, 022"

4T

582
188

. 600w

@ .100"~]|

EXTRUSION DIE UNF-
SCALE : 1/2" = 1" ' DETAIL

—~

GENERAL NOTES:

DURAFRAME 2000 / RETROFIT HAS BEEN DESIGNED IN ACCORDANCE WITH THE DADE COUNTY, 1994 EDITION
OF THE SOUTH FLORIDA BUILDING CODE.

Dggl(gv WIND LOADS SHALL BE DETERMINED AS PER SECTION 6 OF ASCE 7-88, WITH 110 m.p.h. BASIC WIND
SPEED.

DURAFRAME 2000 / RETROFIT'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE
WITH SECTIONS 2315 & 2314 RESPECTIVELY OF THE ABOVE MENTIONED CODE,

SEE SHEETS 7 & 8 OF 9 FOR P-20 PANEL SYSTEM DETAILS.
ALL ALUMINUM EXTRUSIONS SHALL BE 6063—T6 ALLOY (UNLESS OTHERWISE NOTED).

4 ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 SERIES OR ZINC COATED STEEL W/ 50 ksi YIELD POINT AND
80 ksi TENSILE STRENGTH.

BOLTS TO BE STAINLESS STEEL OR ZINC COATED STEEL WITH 35 ksi MINMUM YIELD POINT.
6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)
(A) TO EXISTING POURED CONCRETE:
— 1/4™ # TAPCON ANCHORS, AS MANUFACTURED BY LT.W. BUILDEX OR ELCO TEXTRON.
I l . (B) TO EXISTING CONCRETE BLOCK WALL: :
‘ ot . 125" = ~ 1/4” # TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILDEX OR ELCO TEXTRON.
—{ 1.000% ~ 1.000" " 1.000 . (C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMENDATIONS AND SPECIFICATIONS OF THE
975 100" 975 ANCHOR’S MANUFACTURER AND SHALL HAVE A Min. PENETRATION OF 1 3/4” INTO BLOCK OR CONCRETE,

=-1.000 "= 7. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE
4.950"™ FRAME IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE.

EXTRUSION DIE UNF- @ EXTRUSION DIE UNF _@ 2 St f%«/\ﬁ/_f‘ggrgiﬁf&srlqup SHALL BE PLACED ON THE EXPOSED SURFACE OF THE FRAME (. (7R) OR

. . TWO TABELS SHALL BE PLACED FOR EVERY OPENING. LABEL SHALL READ AS FOLLOWS:
SCALE : 1/2" = 1" SCALE : 1/2* = 1 DURAFRAME

WEST PALM BEACH, FLORIDA
DADE COUNTY PRODUCT CONTROL APPROVED.

9. PATENT PENDING :
U. S. PATENT NUMBERS 5,509,239; 5,524,403; 5533,308; 5522,190; 5465,537.

© COPYRIGHT 1997 DURAFRAME WINDOW SHUTTER SYSTEMS, INC.®
RESERVES ALL RIGHTS

—= fe—. 125"

IS

e | 188"
N

R.125%2) .0627(6)
— " T
125 |~ I

| i U !

212" |l
700"
1.062°
f+—1.250"
4.000*

150~ I‘-

4.950"
3.000"
R.125%(2) '(.,‘, .062(6)

:l . 188"

2

1,250~
212"~

l=—1.063

F

{
l 10. A WARNING NOTE SHALL BE PERMANENTLY STAMPED ON EACH PANEL ADVISING THE HOME OWNER OR TENANT
? r:] THAT THE SHUTTER PANELS ARE TO BE INSTALLED ONLY FOR THE DURATION OF A HURRICANE WARNING PERIOD
| |

AND ARE NOT INTENDED FOR SEASONAL OR PERMANENT INSTALLATIONS WITH PROLONG EXPOSURE TO WEATHERING
T _—] CONDITIONS.

125" NOMENCLATURE

APPRQVED AS COMPLYING WITH THE
TYPE COMPONENT . SOUTH FLORIDA BUILDING CODE
RETROFIT FRAME @.Q ok @B DAT

125" f=-
250w e

. 150" I.-

1000 [71.000"~

975"

REMOVABLE STORM BAR | B)+ () PRODUCT OBKTROL DIVISION
BUILDING CODE COMPLIANCE OFFICE

ACCEPTANCE NO.OOL= 02.0(,. 2 Y
—=t f=—-. 125"

MIAMI-DADE COUNTY

DURAFRAME 2000 / RETROFIT ASSSZ‘JEWN

4.000*
4.125%

125" o

f—. 125"

!
e TiLleco . \ | PURAFRAME 2000, INC. | 0"
ALTERNATE (9) + 1) / ILIECO ixc. \ 000,

6001 Georgia Avenue / Suite 9

TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FLORIDA 13405 01-078
SCALE : 1/2" = 1" : Z’ - 6595 N.W. J6th, sc} Ste. 217, VIRGINIA GARDENS, F1. 33166}
v@> Phane : (308, 57.‘.1;—5(-),365?; 9.- (305)871—1431 e T prove— T DRAWING No
WALTER A. TILLIT Jr. P. E. ' o e7-63  l4/18/0 s
WAITI FLORIDA Lic. # 44167 z - - ” SHEET 1 OF 9




MITTER ALL CORNERS

(Typ.). ———~\l’

g"

e

oo |

1/4° 8 x 3" x 10" Alum.
TOP & BOTTOM @ EA
STORM BAR LOCATION W/ (4

N

TE
REMOVABLE
1/4" # TAPCON

ANCHORS @ 3" O. C. HORIZONTALLY

*@2)

© Lo

L__I \1/4 8 FLAT HEAD TAPCON
ANCHORS @ 12 0. C. (Max,)

START FIRST ANCHOR @ 6* FROM

CORNERS (Typ. ALL AROUND).

X j

RETROFIT FRAME ANCHORAGE TO EXISTING C. B. S. BUILDING

W/ OR W/0 REMOVABLE STORM BAR (ELEVATION 1A)

N TS

" Mox., FOR CASES W/0 STORM BARS

Lep

\

REMOVABLE
STORM BAR

ONS!

[ ) —
5" Max., FOR ——w “ Max, "5* Max, —————w
CASES W/ STORM BARS r_—
. P8 . i
12* 12" —wrf—pe 12* 12' “‘ o 12" 12" -I
TN T T AR T T
’ I'o - k-3 of i, £ -3
o~ J—’—— o \ o \ Lu / o
& I Ll p”
g .N DET. 7_/ ‘LDH: 1
¥ T () (Tvp.)
A I ¥ v o
L]
%
N
. | | |
L] 2
§ N
ﬁ o otol o )
oy @
x 1 REMOVABLE
t ° o STORM " I
) % 4S APPICABLE)
= 1 H
1 4
1 )
—KL L S 1 ~L4L.L N
Zié; H’Elgan’-'m’ 12% 12 "La;l:% 12* 12~ 12——L—-I
ZINC COATED M, S W, DET 2 OR ZA

3/4" x .093" STEEL

WASHERS W/ NEOPRENE

(Typ. ALL AROUND)

P—20 PANEL ANCHORAGE TO RETROFIT FRAME W/ OR

W/0 REMOVABLE STORM BARS (ELEVATION 2A)

RETROFIT FRAME, REMOVABLE STORM BARS &

N T S

b
h

= MAXIMUM PANEL WIDTH (SEE SCHEDULE)

P—20 PANEL (ELEVATION 34)

= MAXIMUM PANEL LENGTH (SEE SCHEDULE)

P

@ IS P—20 PANEL

N T S

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

BUILDING CODE COMPLIANCE OFFICE
ACGEPTANCENO.OL =~ 0200, 2Y

MIAMI-DADE COUNTY

DURAFRAME 2000 / RETROFIT ASSSZ_ZWN
4/18/01
ILIECO i« DWZM INC. oaTE
TiLLT TESTH % EN : 6001 Georgia Avenua / Suita §
ING ENGINEERI
8505 K 36t 1, st 217, WGNA R NﬂpmcsongerL WEST PALM BEACH, FLORIDA 33405 01-078
e Es_aaos;;g (osjazt=~1531 Y, Mo DESCAIDON oATE | Rev. ne BESCMPTION MIE DRAWING No
WALTER A TILLIT Jr. P, E, 1 oD 9763 4/18/01] ]
FLORIDA Lic. # 44167 2 = = 7] SHEET 2 OF §

VAR S




foe——————— "b" Max., FOR CASES W/0 STORM BARS

b” Max., FOR CASES D" Mox.
W/ VERTICAL STORM BAR 6”1 g5°
12"—’\[" :t‘"V’\I:-
'/'“" ) \.V‘\, B

—

5"

12'—'— 12'-’— 12'—’— ’2."_-'

y——

Iy 12"1—— 12"1—— 12'—-1—— IZ'J’E‘J

- IO ®

REMOVABLE STORM BAR
(AS APPLICABLE)

Max. PANEL LENGTH (SEE SCHEDULE)

\

REMOVABLE
STORM BAR

[

1/4" 8 x 3° x 10" Alum. PLATE OR
TOP & BOTTOM © m@+ REMOVABLE
STORM BAR LOCATION W/ (4) 1/4" 8 TAPCON

ANCHORS @ 3" 0. C. HORIZONTALLY DET. 2 OR 2A
\ il /_ (vp.)
i 7
oL | T

’u\ b

q
Y AN r :n ’_s L) 13 ?: ") 1) L
- " -
Ls_"! \1/4' # FLAT HEAD TAPCON e A Titeased W2 :&XTE—_EQ-— 12" 125 12 e 12 o 12'-'«;:’ 4

6
frae—— T~

ANCHORS © 12" 0. C. (ng.) ] M S. W/ 3/4" x .093" 66
CORNERS. (5. L1 AROGND), NEOPRENE. (ot AdouND)
RETROFIT FRAME ANCHORAGE TO EXISTING C. B. S. BUILDING P-20 PANEL ANCHORAGE TO RETROFIT FRAME W/ OR RETROFIT FRAME, REMOVABLE STORM BARS &
W/ OR W/0O REMOVABLE STORM BAR (ELEVATION 1B) w1 s W/0 REMOVABLE STORM BARS (ELEVATION 2B) N.T s P—20 PANEL (ELEVATION 3B) v s
b = MAXIMUM PANEL WIDTH (SEE SCHEDULE) @ IS P—20 PANEL

h = MAXIMUM PANEL LENGTH (SEE SCHEDULE)
h" = Max. PANEL LENGTH (SEE SCHEDULE)

6" 6"
12— 122
AN .

A %N

-b-m.———.]
/\<=
%

. DET. 1 OR 2
: [ E [ = T y — I I RETROFIT FRAME, REMOVABLE
% | S : g o] \[[7
oL gt 8 x 2o 1 pum. e @ exc | o G g N STORM BARS & P—20 PANEL
STORM BAR LOCATION W/ (4) 1/4" # TAPCON Y " DET. 1 OR 2 REMOVABLE
ANCHORS © 3° 0. C. VERTCALLY E § N () . @ STORM BAR (ELEVATION 3C) N. T, S
' ' 3 |3 ’_ ‘ FEMOVABLE STOM B4 ' (4) Is P-20 PANEL
o N )
/@ @\ § §.§ ’_ ’ ¢ APPROVED AS COMPLYING WITH THE
) . ’s’:"% . SOUTH FLORIDA BUILDING CODE
OR@ 3 N ?_ DATE Q4 / OO
Q ! X BY
. . H}
3 .& PRODUCT TROL DIVISION
. . N . BUILDING CODE COMPLIANCE OFFICE
o] — . . : . T ) — :n ACCEPTANCENO.O - 0201, 2.4
I, l \1/4'- FLAT HEAD TAPCON [ L/Dt'H'E;éanﬁRLAA{L?'“f:_ﬁL 12"—-]—-12"—-!-— 12'—-'-—;4-—,—'--12'—-1-— 12'—-'-—12'«-[——:‘ MIAMI-DADE. COUNTY
& START FIRST ANCHOR @ 6% Prou 6" Zic caAteD M. s, Wy © & ¢ 4
'CORNERS (Typ. ALL ARGUND). ‘%;'Hﬁes"oii ﬁggg’,—&_x‘ér . DURAFRAME 2000 / RETROFIT Assg:li_ww

(Typ. ALL AROUND)

RETROFIT FRAME ANCHORAGE TO EXISTING C. B. S. P—-20 PANEL ANCHORAGE TO RETROFIT FRAME W/ OR T-r_ W 4/18/01
ILIECO xc. D 2000’ INC. DaTE

BUILDING W/ OR W/0 REMOVABLE STORM BAR W/0 REMOVABLE STORM BARS (ELEVATION 2C) N.T.s. T TESTIG & ENGIEERTYG CouF | VEST Pack sErch Fuoman Sseas 01-078
(ELEVATION 1C) NTS b = MAXIMUM PANEL WIDTH (SEE SCHEDULE) B 530l S T T ORAWING No
h = MAXTMUM PANEL LENGTH (SEE SCHEDULE) M@ WALTER A LT . P £ PO T 7T “E
[ FLORIDA Lic. # 44167 2 - = 4 SHEET 24 OF 9

4/&7/&/




A
.

ANNNNNNNNN

CONCRETE ANCHOR
(SEE ELEVATIONS 1 ON
SHEETS 2 & 2A OF 9)

/ " =7
x /

POURED CONCRETE § /
REQUIRED 5 /

SN

SLLLI LS LA 00
| |

[

)

| |
- -

500
(Max.

o — i - —
—— e w— — ——

st RERIHII
""" A I

A

L

ANNNNNNNNN

N

CONCRETE ANCHOR  \ )
(SEE ELEVATIONS 1 ON

SHEETS 2 & 2A OF §) ————

T

| Min. SEPARATION TO———w
GLASS (SEE SCHEDULE
ON SHEET 9 OF 9

53
8

—

S S

\\\\\\\\'\\\{\\'\\\\

A [

POURED CONCRETE OR
CONCRETE BLOCK WALL
REQUIRED

3.000° Typ:
LLL

000"
Typ-)

SRR

2

CONCRETE ANCHOR -

(SEE ELEVATIONS 1 ON g N
SHEETS 2 & 2A OF 9)
Av N

SECTIONS A & B
SCALE : 3/8" = 1*

A

Y4

! /
3.000" ryp.—§ Y

//
// |_————— POURED CONCRETE OR

CONCRETE BLOCK WALL

CONCRETE ANCHOR
(SEE ELEVATIONS 1 ON
SHEETS 2 & 2A OF 9)

REQUIRED

I/
9290922 n

~‘A
g Y
OR (ONLY @ CURVED = / OR LONLY @ CURVED
HEADERS) POURED CONCRETE / IEADERS)
REQUIRED §
~y /
] //////////l///////
= H 1 | [ 1/ 5yt B
— | monsns, ¥ s | mnsnton. ¥ meney | /]
\ iy 11 ” T~
1/4 #-20 x 1 1/2" HEX ” ” T 83
EAD THREADED ZINC COATED 03 1/4" #-20 x 1 1/2" HEX
M. 5. W/ 3/4" x .093" STEEL I " ! HEAD THREADED ZINC COATED
FLAT WASHERS WITH NEOPRENE I il I M. S. W/ 3/4" x .093" STEEL
CQATING THRU PANEL TO é OR I I | FLAT WASHERS WITH NEOPBENE
@ SPACING SHOWN O 1l H | INIMUM—= COATING THRU PANEL TO
ELEVATIONS 2 ON SHEETS Il I Il sEparanion OR @ SPACING SHO
Z & 2A OF 8. | I H o 6iiss ON ELEVATIONS 2 ON SHEETS
N I i |1(SEE SCHEDULE] 2 & 2A OF 9.
P-20 PANEL 1l (I dN SHEET
1l i pors ™ p-20 PaNEL
] 1]
Il 1]
Li tin Lt
¥ 1 1
i |
l/«t' 9-20 x 1 1/2" HEX i |
/ IEAD THREADED ZINC coggo ” }I
M. S. W/ 3/4° x .093" STEEL
FLAT WASHERS WITH NEOPRENE HINDOW OR I I
COATING THRU PANEL TO JGLASS | ~H I |
@ SPACING SHOWN ON ELEVATIONS i T
2 ON SHEETS 2 & 2A OF 9 1 I 1/4" #-20 x 1 21/2' HEX
4 1L 1y HEAD THREADED ZINC COATED
 — M. S. W/ 3/4" x 093" STEEL
FLAT WASHERS WITH NEOPRENE
\\ COATING THRU PANEL TO
\\\\\\\\\ \ @ SPACING SHOWN ON ELEVATIONS

CONCRETE ANCHOR
(SEE ELEVATIONS 1 ON
SHEETS 2 & 2A OF 9)

500" Min,

1/4° #-20 x 1 1/2" HEX HEAD
THREADED ZINC COATED M. S. W/
J/4" x .093" STEEL FLAT WASHERS W/
NEOPRENE COATING © SPACING SHOWN ON
ELEVATIONS 2 ON SHEETS 2 & 2A OF 8.

1/4° #-20 x 5 1/2" HEX

HEAD THREADED S. @M S.

IGHT

W/ WING NUT FOR
@ 12° 0. C FULL
1/4° #-20 x 1 1/2" HEX
HEAD THREADED ZINC COATED
M. S. W/ 3/4" x .093" STEEL
FLAT WASHERS W/ NEOPRENE
COATING @ SPACING SHOWN
ON ELEVATIONS 2 ON
SHEETS 2 & 2A

v

2 ON SHEETS 2 & 2A OF 9.

21
L POURED CONCRETE 3.000° Typ:
REQUIRED .
L
ALTERNATE SECTIONS A & B
SCALE : 3/8" = 1* A
\ L\
3.000" Typ
CONCRETE ANCHOR =~ ————
(SEE ELEVATIONS 1 ON -
SHEETS 2 & 2A OF 9) \
POURED CONCRETE OR ——ﬁ\
CONCRETE BLOCK WALL \ .
REQUIRED \ ;.ngg
500" )
Al NN

g,

.

\ P-20 PANEL ——/

SECTIONS C

SCALE : 3/8" = 1*

SECTIONS D

TR U

1/4" 9-20

NEOPRENE
ELEVATIONS

SCALE : 3/8" = 1*

\~ P-20 PANEL j

THREADED ZINC COATED M. S. W/
3/4” x .093" STEEL FLAT WASHERS W/

SECTIONS C'

SCALE : 3/8" = 1"

x 1 1/2° HEX HEAD

COATING @ SPACING SHOWN ON
2 ON SHEETS 2 & 2A OF 3.

1/4° #-20 x 1 1/2° HEX
HEAD THREADED ZINC COATED
M. S. W/ 3/4" x .093" STEEL
FLAT WASHERS W/ NEOPRENE
COATING @ SPACING SHOWN
ON _ELEVATIONS 2 ON

SHEETS 2 & 2A OF 9.

1/4" #-20 x 5 1/2" HEX
HEAD THREADED S. 5. M. S.
W/ WING NUT FOR

@ 12° 0. C. FULL HEIGHT

(0l !F 1 ]

o P20 PANEL

QY

hstrin i 13 1)
iHII 1) Wil

1L

)
110115

[
I
1/4" #-20 x 1 1/2" HEX |
[EAD THREADED ZINC COATED
M. S. W/ 3/4" x .093" STEEL
FLAT WASHERS W/ NEOPRENE
COATING @ SPACING SHOWN
ON ELEVATIONS 2 ON
SHEETS 2 & 2A OF 9,

SECTIONS D'
SCALE : 3/8° = 1*

P-20 PANEL

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

BUILDING CODE COMPLIANCE OFFICE

ACCEPTANCE NO.OI = O2.00. 24

MIAMI-DADE COUNTY

IILIECOmc.

Phaone : (305)871~1530 . Faxr : (305)871—1531
EB-0006719
WALTER A. TILLIT Jr. P. E.
FLORIDA Lic, § 44167

TILLIT TESTING & ENGINEERING COMFANY,L
6593 N.W. 36th, St Sta. 217, VIRGINIA GARDENS, Fl, 3316

/1870 8
- 4

2 -

DURAFRAME 2000 / RETROFIT Assf:&_w'v
4/18/01
DURAFRAME 2000, INC. DaTE
800! Caargla Avenue / Sulte §
WEST PALM BEACH, FLORIDA 33405 07_078
REY, Ne DESCRPTION DATE | ATV, Ne DESCRPTION T DRAWING Ne
1 oLl p7-83

SHEET 3 OF g

%f/ &y




1/4”" x 3" x 10" Alum. PLATE
AT EA. STORM BAR LOCATION

W/ 4 CONCRETE ANCHORS
SPACED ©® 3" O. C. HORIZONTALL

Y

_@

W/A2) 1/4° 8-20 x 1 1/2" HEX
HEAD THREADED ZINC COATED M. S.
W/ 3/4" x 093" STEEL FLAT
ASHERS WITH NEOPRENE

COATING AT ToP T0 @OR @

- - lAr
1/4" x 3" x 10" Alum.
PLATE AT EA. STORM BAR
LOCATION W/ 4 CONCRETE
ANCHORS SPACED @

3" 0. C. HORIZONTALLY

j

W/2) 1/4° #-20 x 1 1/2" HEX

HEAD THREADED ZINC COATED M. S.

W/ 3/4% x .093" STEEL FLAT

AT TOP TO OR

1.000"
Iyp

L, CONCRETE BLOCK WALL
REQUIRED

/)

COATING AT BOTTOM TO

CONCRI:'IE ANCHORS
e J C. AT STORM BAR

WASHERS WITH NEOPRENE COATING

[

3.000*
.500™

} 3.000* 'E

BY

Y 2
L 84/ -@ W/ 1/4" 8-20 x 5 1/2" @
/] 7 § 3 /) g{)g f{ﬁws nxm%a 8 or nl
. - -~ NU
<A _@ W R0 x 5 1/2 POURED CONCRETE S /] o 1270 ¢ fu e
-~ r S. S, M_S. W/ WING NUT Aty S /| - \
] @ 12° 0. C. FULL HEIGHT — - /1 or @ \ Y
POURED CONCRETE § /{/ / B/3
REQURED N (LLLLLLLLALL LS S t -+ o o 57 L
: (D> (@B =SS S :
, A/ N3 wW/2) 1/4" #-20 x 1 1/2" \—
3 HEX HEAD THREADED ZINC CPATED
LLLLL AL "3 ! M. S. WY 3/4° x .093" STE © L/4'x3'x10"Alum
FLAT WASHERS WITH NEOPREAE fLATE AT ch, STomM
. F o AT TOP 1o ANCHORS SPACED 0
§§ 4 OR \ “ 0. C. HORIZONTALS
) : T T —
jﬁf;ﬁs TION \
1/4” #-20 x 5 1/2"
(8 scrieoue @ + AR AN
= Min. SEPARATION 1 o S. S M. S. W/ WING
TD GLASS (SEE A D /3 pa™re 12" 0. ¢
SCHEDULE ON L/
SHEET 9 OF 9) __f
i 5 @W/(z) 1/4" 9-20 x 1 1/2"
1 HEX HEAD THREADED DETAIL 1 (E'LEVA TION) : TOP (saaar ror
ZINC COATED M. . W/ DETATL 2 BOTTOM)
' { %gHﬁesaﬁmsﬁganéﬁg SCALE : 378" = 1°
{ . A\ coATING AT gorToM 1o (] 7)or @* et Tireased % s w
NOTE : e\ vor DETAIL 1 (SECTION) A WG W7 6 1270,
DETAIL 1 (SECTION) SHOWN FOR CLARITY AL : /8 = 10
AT ALL DETALS. Py = { i
SCALE : 3/8" = 1"
A A A A A O * @
X Y | ¥ ‘
. 3 LG 3 ©
WINDOW GLASS M. st';';’“(;’,_?f w:
\ SCHEDULE ON NDoW OR
SHEET 9 OF 9) Joliss B N | - (5 © — =
\\\q < < [
[ SePARATION
8y i o S, . L S o as
- R. et -
qiF 53 oN_SHEET |~ 3" 0. C. AT STORM BAR /A
J I ~< Q g9loF 9) ’ CENTERED W/ STORM BAR. ’
A
\\\\\\\\\\\\{\\\\\7\\ § : V
] N DETAIL 24 (ELEVATION) : BOTTOM
E - -
3 § \—@ w/(z) 1/4" #-20 x 1 1/2" tex | (ORTORY = = i C APPROVED AS COMPLYING WITH THE
" HEAD THREADED ZINC COATED M. S. . SCALE : 3/8" = 1*
8 NN W/ 3/4" x 093" STEEL FLAT AN NN \ SOUTH FLORIDA BUILDING CODE
POURED CONCRETE O T_ PASHERS W NEOPRENE (¥ | NN J\ PN DaTE 04

\

A

i

m|

v

DETAIL 2 (SECTION)

SCALE : 3/8" = 1"

-\— 1/47 x 3" x 10" Alurn. PLATE

\
3.000" Min.—-S‘
N

CENTERED W/ STORM BAR.

POURED CONCRETE OR
CONCRETE BLOCK WALL

AT EA. STORM BAR LOCATION
W/ 4 CONCRETE ANCHORS
SPACED @ 3" 0. C. HORIZONTALLY

AN

REQUIRED ——= i
¥

DETAIL 2A (SECTION)

* NOTE :

SCALE : 3/8" = 1~

&

WA2) 1/4" #-20 x 1 1/2" HEX
HEAD THREADED ZINC COATED M. S.

W/ 3/4" x 093" STEEL FLAT

WASHERS WITH

NEOPRENE x
COATING AT BOTTOM TO @

PRODUCT CONTROL DIVISION

BUILDING CODE COMPLIANCE OFFICE

ACCEPTANCE NO.OV~0 20 (p. 24
_“LSHMAMI—D E COUNTY

CONNECTION OF REMOVABLE STORM BARS
TO RETROFIT SHALL BE PERFORMED

TOP & BOTTOM OF STORM BAR BY MEANS
OF MANUAL TOOLS AND NEVER WITH
POWER TOOLS.

Dot 5

/ TILIEC O .. \

TILLIT TESTING & ENGINEERING COMPANY
8505 N.W. 36tk e Ste. 217 VIRGINA GARDENS, F1. 33166}

Phena : (305}871~1530 . Fax : (305)871—1531

EB~0006719
WAL'IER A TILLIT Jr. P. E

DURAFRAME 2000 / RETROFIT Asscs‘l‘-l&wu
4/18/01
DURAFRAME 2000, INC. oaTE
6001 Gaorgla Avenus / Suita 8
WEST PALM BEACH, FLORIDA 33405 01-078
REV. Ne DESCMPTION DATE | 57, Ne DESCRIPTION AT DRAWING No
1 oLD 97-83 4/18/01 3
Py - - Py SHEET 4 OF g

FLORIDA Lic. §f 44167

ZFE7



- " Max., FOR CASES W/0 STORM BAF - 1/4* 8 x 3* x_10" Alum. PLATE. TOP & 'b" Max., FOR CASES W/0 STORM BARS
6" Max. FO D" Max: B° Max————=] HOTTOM © EA @ + () STORM BAR LOCATION *6* Max., FOR CASES ; “5* Max:
CASES W/ STORM BARS W/ (4) 1/4" & WOOI scret:ws W/ 2 1/2" Min. W/ VERTICAL STORM 8AR |
1/4" # x 3" x_10" Alum. PLATE, TOP & MBEDMENT SPACED @ 3° 0. C. HORIZONTALLY _
BsrT(ou 9/ @+ @p STORM BA}? Los:}go% ATh Y
W/ (4) 1/4* # WOOD SCREWS W/ 2 1/2" Min,
EMBEDMENT SPACED @ 3° O. C. HORIZONTALLY ‘(4;;;'5)'? ALL CORNERS  g*

~ —B 7

fe—"h" = Mox. PANEL LENGTH (SEE SCHEDULE)—

.".'I

[

_é
HT

I’:
/

L
6

3 — - i+

\ / B\ /7
L 3 ~

f ‘\—-DET.I

DET. 1
(Tvp.) (Tvp.)

R -7
J\.. L/
DET. 1 \
(Tp.)

o o0 |

(AS APPLICABLE) ‘ ‘
c

3 \§@ .0 )

) =
Y -

—
-
-———
[
~_

q ——
q——
o
]
) e
Max. PANEL LENGTH (SEE SCHEDUL

P

DEI' z OR 2A DET. 2 OR 2A : .
\ H- () Al i (AS APPLICABLE) \ ?g’: )2 OR ZA‘L
. 1 ™ . Ih)
LI e 0 . n r".A ) \- . .
\ 7 gy \\/l L T —— s : : 1
[ 1/4° @ WOOD SCREWS W/ 2 1/2" Min. 6 L-s.—'l \_ A ~=

b
L
6
O
5"

EMBEDMENT © 12° 0. C. (Max.) START 1/4" # WOOD SCREWS W/ 2 1/2" Min. g*
FIRST WOOD SCREW © 6° FROM CORNERS EMBEDMENT @ 12* 0. C. (Max.) START
(Tvp. ALL AROUND). FIRST WOOD SCREW o 6" FROM CORNERS
(Typ. ALL AROUND).
RETROFIT FRAME ANCHORAGE TO NEW WOOD FRAME BUILDINGS RETROFIT FRAME ANCHORAGE TO NEW WOOD FRAME BUILDINGS
W/ OR W/0O REMOVABLE STORM BAR (ELEVATION 14) w1 s W/ OR W/0 REMOVABLE STORM BAR (ELEVATION I1B) «wr1s
b = MAXIMUM PANEL WIDTH (SEE SCHEDULE) b = MAXIMUM PANEL WIDTH (SEE SCHEDULE)
= MAXIMUM PANEL LENGTH (SEE SCHEDULE) h" = Max. PANEL LENGTH (SEE SCHEDULE, h = MAXIMUM PANEL LENGTH (SEE SCHEDULE)
B
B

NG _

. 1 OR 2
DET. 1 0R 2—%] /i (45 APPLICABLE) - 1T R) () —\' 1“‘-

> (o) =D
5 e = T
s § “K_ n/ —=D’ \ H.2°
o s 4 -~
> (3 1/4° # x 3° x_10" Aum. PLATE, TOP &
tn BOTTOM © EA @ # STORM BAR LOCATION
2 E W/ (4) 1/4” & WOOD SCREWS W/ 2 1/2* Min.
§ ‘ { EMBEDMENT SPACED @ 3" 0. C. VERTICALLY ‘

2 R IBR APPROVED AS COMPLYING WITH THE
§ 3§ % “11¢ o | SOUTH FLORIDA BUILDING CODE
A ' ' oATEOM /23 / 206 )
§ °F% OR
2N BY 4
ol : : PRODUCT CONTROL DIVISION

§ BUILDING CODE COMPLIANCE OFFICE

-02.0l.
5 | \ .y _ ACCEPTANCENO.OL ~0 20k, 294
o] P : . . —| T,

—4 L
6” \ 1/4" @ wooD SCREWS W/ 2 1/2" Min. 6° MIAMI—-DADE COUNTY

EMBEDMENT @ 12° O. C. (Max.) START

AS SHOWN
?Igir AvgogRgsxgv © 6" FROM CORNERS DURAFRAME 2000 / RETROFIT SCALE

RETROFIT FRAME ANCHORAGE TO NEW WOOD FRAME BUILDINGS 4/18/01
/ TILIEC O 1ne. \| PURAFRAME 2000, INC. | "

W/ OR W/0 REMOVABLE STORM BAR (ELEVATION 1C) wnrTs €001 Georgia Avenue / Suite 9

= MAXIMUM PANEL WIDTH (SEE SCHEDULE) S ~— gz, | s 27 o Gt 4 Sl WEST PALM BEACH, FroRIA 3408 01-078
ek : Far : = DRAWING
= MAXIMUM PANEL LENGTH (SEE SCHEDULE) jé) WALTER 4. TILLT . P E. S 1 . i B R e
- FLORIDA Lic. # 44167 7 = - " SHEET 5 OF g

<4%//@”/@/




1/4° @ WOOD SCREWS W/ 2 1/2" 1/4" 8 WOOD SCREWS W/

Min. EMBEDMENT INTO WOOD FRAMING 2 1/2" Min. EMBEDMENT INTO
SEE ELEVATIONS 145 WOOD FRAMING
( /5) (SEE ELEVATIONS 1/5
(2) 2" x 6" FRAMING (2) 2° x 6') FRAMING
REQUIRED — T REQUIRED
LLL e g L 2L 1/4" 9-20 x 1 1/2" HEX HEAD SOOI
-, x
WO0D STUD @ 24" THREADED ZINC COATED M. S. W,
A = 00 it recomeD A O. C. Max. REQUIRED  L— Wb aass N Se STEEL FLAT WAShERs  INDOW GLass ——]
— 7 . C. Max. REQUIRE ¥ "y g U W/ NEOPRENE COATING @ SPACING
% I’r : g 2’ x 6 HEADER REQUIRED| L SHOWN ON ELEVATION 2 ON SHEETS —-— ]
f 1/4" 8 WOOD_SCREWS W/ 1 2 & 24 OF g r
5 pd 2% ¥ 6" HEADER ; Z T;/z;‘;J Min. EMBEDMENT . -
REQUIRED 0 WOOD HEADER e é-—————— ===_===§ |
’ (SEE ELEVATIONS 1/5) ! 1/4" #-20 x 5 1/2" HEX >~
; M 1/4" 8 WOOD SCREWS W/ 2 1/2" Min, /] _— b oba™ e d HEAD THREADED S. S, M. S. Lo L
EMBEDMENT INTO WOOD HEADER, L/ 17) or (ONLY AT P. 1/4” 9-20 x 1 1/2" W/ WING NUT FOR 2.800 —
; (SEE ELEVATIONS 1/5) ; g&kgggs) Hex ,HR/MED ZINC coarep \ @ 12° 0. C. FULL HEIGHT
M. S. W/ 3/4" x 093" 1/4” #-20 x 1 1/2 HEX HEAD THREADED
|/ 1 oR (ONLY AT CURVED HEADERS) % 1/4" #-20 x 1 1/2"° STEEL FLAT WASHERS W/ ZINC COATED M. S, W/ 3/4* x .093"
HEX HEAD THREADED NEOPRENE COATING @ SPACING STEEL FLAT WASHERS W/ NEOPRENE
% A" 020 x 1 yz. HEX % - ZING COATED_M. S. W/ SHOWN ON ELEVATIONS 2 COATING @ SPACING SHOWN ON
/ r HEAD MREADED/INg /1 r I %;Hﬁ?s.o%; STEEL FLAT ON SHEET 2 & 2A OF 3, ELEVATIONS 2 ON SHEETS 2 & 2A OF 9.
COATED M. S. W/ 3/4" x o
; .093* STEEL FLAT WASHERS W/ 5 g%uxaoz SPACING /—P—20 PANEL—\ /-P—ZO PANEL—\
NEOPRENE COATING © SPACING ELEV)
/] SHOWN ON ELEVATIONS 2 / > ON SHEETS 2 & 2A OF 4.
L/ ON SHEETS 2 & 24 OF 9. % : d : ~/ TT T (
“ — /]
I .
| 1/4" #-20 x 1 1/2" HEX HEAD
Lo I | 1! SECTIONS C THREADED ZINC CéTED M S w/ SECTIONS ¢’
H i I !L— SCALE : 3/8" = 1* %&;Ema_ggms"iﬁg; Lé%?fa”@’ffovﬁv/ ON  SCALE : 3/8" = 1"
i i i I .—S‘EI;%;?"AW SECTIONS D ELEVATIONS 2 ON SHEETS 2 & 2A OF 9.
il il i P ——
WINDOW A, TO GLASS . 3/8" = 1-
=II-—.Wn. SEPARATION——=] OR'S G D ﬁ !% ii sc,ﬂ%%‘{,w ey
!{ T0 GLASS {! !, W lon sweer ; !
wiNpow—_ 1} (sgﬁngngfL'Es)o " il it I I 1T ! [ ' ko Trrtnen W BX
cuss NI HIn WINDOW i M st HEAD THIREADED ZINC COATED
" !{ i i RS G D i P—20 PANEL M. S. W/ 3/4" x .093" STEEL
| 2 dl 1 \ - G L 1~ ]| o FLAT WASHERS W/ NEOPRENE
Y % P-20 PANEL % P—20 PANEL o 1] (SEE COATING @ SPACING SHOWN
) b T } FF i I | scHeDuLE ON ELEVATIONS 2 ON
I 1] 1} H P-20 PANEL
i H i il i " ON SHEET SHEETS 2 & 24 OF 9.
!I H i ” SUB-FLOOR !I 9 0F39) 1/4" 8-20 x 1 1/2"
| EX HEAD THREADED . .
il “ i i FLooR a il !‘ ZING COATED M. S. Wy I/4° #-20 x 5 1/27 HEX  \p
' i il it it J/4" x .093" STEEL READED 5. S, M. 5.
i i i H | FLAT WASHERS W/ W/ WING NUT FOR
A {11 i NEOPRENE COATING @ 127 0. C. FULL HEIGHT
i‘ T !' |‘ @ SPACING SHOWN ON ;
| HIREIR : § ecunons zov et ———
N i bw ] a ~ §s00fin | ' i =——r====F
N : IEEn RS el — 2]
N : /
N 1/4" #-20 x 1 1/2" HEX H ' !! V] 5/4' # WOOD SCREWS W/
N\ S HEAD THREADED ZINC POURED CONCRETE ! ! | .</ 1/2" Min. EMBEDMENT 1/4" 9-20 x 1 1/2" HEX
N ol COATED M. S. W/ 3/4" x  OR CONCRETE i H i — EQ— 5 INTO WOOD SPACER HEAD THREADED ZINC COATED
N\ .093" STEEL FLAT WASHERS BLOCK WALL I H 1 < — VA (SEE ELEVATIONS 1/5) M. S. W/ 3/4" x .093" STEEL
W/ NEOPRENE COATING REQUIRED ~1_V FLAT WASHERS W, -
@ SPACING SHOWN ON | — | C4— 4% x woop ERS W/ NEOPRENE P-20 PANEL
N ELEVATIONS 2 ON SHEETS N if II —1/] SPACER RequIrRen ON XTI GING, SHOWN
Q \ 2& 24 OF 9. IR IR ~ j N CeTWeEN SHEETS 2 & 2A OF 9.
1/4" # WOOD SCREWS W/ 2 1/2" Min. /__,J’/— [/ .
N EMBEDMENT INTO WOCD PLATE L/
N (SEE ELEVATIONS 1/5) N\ 5 % SECTIONS D’
N DQUBLE 2" x OR 500" Min: = . . /]
0 1/4" 8-20 x 1 1/2 4 - .
N Ao oo puaTe T I el 774 7 APPROVED AS COMPLYING WITH THE SCALE : 3/8" = 1
1 3.000" Min| ZINC_ COATED M. S. W,
SN 27 x 6" wooD o e oHors " 4 o "oar / 7 SOUTH FLORIDA BUILDING CODE
x - (
STUD @ 24° O, C. ON SHEET 5 OF 9 WASHERS W/ NEOPRENE / % H
)
Max. REQUIRED A N 82AZ£’gvA%o§/?gNGNSHOWN ; ;
1 o
¥
SHEETS 2 & 2A OF 9. /1 %
V.
WooD FrRAME —

;@

SECTION A (BOTTOM), B (TOP)

BUILDING CODE COMPLIANGE OFFICE

ACCEPTANCE NO.O| - O2.0le. 2.4

" SECTION 4
(ALTERNATIVE FOR WOOD FLOOR)

SECTIONS A (BOTTOM), B (TOP)

MIAMI-DADE COUNTY

(ALTERNATI VE)

DURAFRAME 2000 / RETROFIT Assg:&mv

TiLleco ... \| DURAFRAME 2000, INC, | .

. DATE
Ty IISI L E c o INC. 5001 Gaorgia Avenua / Sults § ’
TING &
&W\ Ry #;,'Z',.."?“?,,"sya?,* ’ gtjgovl’gg'imgg DEESOnggI WEST PALM BEACH, FLORIDA 33405 01-078
7 i % ) £a_0006779 BV, Ne DESCRPTION | % e ST o DRAWING No
; WALTER A. TILLIT Jr. P. E. as 9783 [i71ag00
‘4//.:/?'/ / FLORIDA Lic. # 44167 : = - - SHEET 54 OF 9




woop sTupD @ 24"
0. C. Max. REQUIRED

A ﬁ

WooD STUD @ 24~
0. C. Max. REQUIRED

% ' 2" x 6" HEADER Y ' 1% 2" x 6" HEADER REQUIRED
¢ REQUIRED % 1/4* x 3* x 10" Alum. PLATE AT EA.
1/4” x 3" x 10" Aum. PLATE AT EA. % STORM BAR LOCATION W/ (4) 1/4" #
V] STORM BAR LOCATION W/ (4) 1/4° # WOOD WOOD SCREWS W/ 2 1/2* Min.
L/ SCREWS W/ 2 1/2° Min. EMBEOMENT WOOD /1 EMBEDMENT INTO WOOD HEADER, SPACED
% HEADER, SPACED' @ I* 0. C. HORIZONTALLY A © 3" 0. C. HORIZONTALLY
/ 1 = z D3
/1 /1
4 —-@ W/ 1/4" 9-20 x 5 1/2" ] —@ W/ 1/4° 8-20 x 5 1/2"
/| HEX HEAD THREADED % HEX HEAD THREADED
/] S. S. M. S. W/ WING NUT /] S. 5. M. S. W/ WING NUT
% r © 12° 0. C. FULL HEIGHT [/ 6 12" 0. C. FULL HEIGHT
/] ——-@ W/(2) 1/4" 920 x 1 1/2° /] . .
|/ HEX 'HEAD THREADED ZINC L/ S '—@ WA2) 1/4" #-20 x 1 1/2
WS 3/4% % 093" HEX "HEAD THREADED ZING
% COATED M. S. W/ 3/. % H { .
% STEEL FLAT WASHERS TW/ % l SOEAEZL-EDFL%T S;V A.%Ek’s/‘w ) .093 11
% ] NEOPRENE COATING AT 80TTOM % i NEOPRENE CGATING AT 8OTTOM
10 OR | ERSS—— | ———
10 OR
~JHL. 1
h : i % :
i 1 i " 1) ‘r 1T
| ov— N I i SRR i
Min. SEPARATI ‘ :
| 10 o ass ll " SEPARATION | “ !l ) I
WINDOW il i | 70 GLASS | be——in i
! (SEE SCHEDULE ON G i ii (SEE WINDOW OR 1 i W 1 seraramon
i SHEET 9 OF 9) %Més - D. i i | schepue 5.6.0./61Ass—1—u | Wi it |10 6Lass
WINDOW GLASS f !I 0 |on suesr iy i (SEE
i i i1 |9or9 £ F H | schebue |l
I i I | o
i i i | | | 9N SHEET
Ay A \ i ! SUB-FLOOR ,I ! !l 9 OF 9) |
L | Y
FLOOR it i i !
JOISTS i il ,
DETAIL 1 (SECTION) DETAIL 1 (SECTION) i i i
T AR 7
! i : % W/(2) 1/4" 8-20 x 1 1/2* HEX
ﬁ I -300" M % 9 W2 THREADED ZINC COATED M. S,
., | A\
TING
i REQUIRED I i | //_J"/ %
" 1] It R — > £G—a) ; AT BOTTOM TO
[ |! u i’”"""/ N 1
i i POLRED CONCRETE oF | | — |
= CONCRETE BLOCK WALL ! —V N—— CONCENTRATE (4) 1/4" # WOOD SCREWS
\ ~. 7 W/ 2 1/2° Min.” EMBEDMENT © 3° 0. C.
i /_r—/ w7 AT STORM BAR LOCATION, CENTERED W/
§ : I — e \ STORM GAR.
: WA2) 1/4” 8-20 x 1 1/2" HEX i ——— 4" x WOOD SPACER REQUI
N AN _ 9) W@ THREADED ZINC CGATED M. S. i V] v BETweEN Fro0R SorRED
N : W/ 3/4* x .093" STEEL FLAT 777N 9
N WASHERS W/ NEOPRENE COATING / ;
N AT BOTTOM TO W/(2) 1/4" 9-20 x 1 1/2° HEX /]
N v j HEAD THREADED ZINC COATED M. . /]
o 1/4“ x 3" x 10" Alum. PLATE AT EA. r , W/ 3/4" x 093" STEEL FIAT /]
N . 4, LOCATION W/ (4) 174 8 woop CONCENTRATE 4 j WASHERS W/ NEOPRENE COATING WOOD FRAME Y
N iy COCRETE ANCHORS © A %
Q J: scﬁgwf; W/ 2 1/2" Mg,_ EMBEDMENZ; R{I[ggv , 3°0. C. AT STOFM AT BOTTOM To WALL APPROVED AS COMPLYING WITH THE
S o - D *0. C P
N N DOUE o STACED © 37 0. C. HORIZONTALLY BAR LOCATION, CENTERED ‘ SOUTH FLORIDA BUILDING CODE
N \ e oD PLATE DETAIL 24 (SECTION) DATE,
\ \ N 2" x 6" wooD ! BY

DETAIL 2 (SECTION)

STUD @ 24° 0. C.
Max. REQUIRED

! (ALTERNATIVE FOR WOOD FLOOR)

DETAIL 24 (SECTION)

PRODUCT CONTROL DIVISION
BUILDING CODE COMPLIANCE OFFICE

ACCEPTANCENOOL - 0200 . 2Y

MIAMI-DADE COUNTY

* NorE :
CONNECTION OF REMOVABLE STORM BARS NOTE : AS SHOWN
TO RETROFIT SHALL BE PERFORMED TOF P-20 PANEL NOT DURAFRAME 2000 / RETROFIT SCALE
© & BOTTOM OF STORM BAR BY MEANS OF SHOWN FOR CLARITY
MANUAL TOOLS AND NEVER WITH POWER AT ALL DETAILS. 4/18/01
TiLIECO ., \| PURAFRAME 2000, INC. | “u
* 6001 Georgia Avenue / Suite 9
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FLORIDA 334035 01-078
. 8595 N.W. JE.M. St., ;s‘:b’ﬁg W}.I_?GIN_M _!':adgﬂﬂ;ls. Fl. 3316
5’%% one : MMEE—DOO'E;;Q' (305)871—1531 T e TR ro——— rTS DRAWING No
P WALTER A, TILLIT Jr. P, . 1 o 97-635  l4/18/011 s
FLORIDA Lic. # 4’4167 2 = - ‘ SHEET 6 OF 9

¢//dj/b/



B/8 |
GENERAL NOTES FOR P—-20 PANEI : / APPROVED AS COMPLYING WITH THE
B" = 4'-0" OR LESS (SEE SCHEDULE)——| SOUTH FLORIDA BUILDING CODE
1. 0.030 IN THICK, EMBOSSED SHEET METAL ALUMINUM WITH A CRYSTAL COAT
FINISH (3105-H14 ALLOY).

2. 0.050 IN THICK EMBOSSED FIBER REINFORCED PLASTIC (FRP) SKIN CONSISTING .

OF GLASS FIBERS RANDOMLY CHOPPED IN 2 IN LENGHTS. THE MINIMUM WEIGHT OF = - - -
G s S AR L Pl S ory S ) {] 3 ence
MANUFACTURED BY KEMLI IPANY, P. O. BO. ), J A 3 ] b e o e i s it s i i it e, i s oo | i o C|
i ek e o e Nl W rcoErcENo Ol 020 - 2
0DV : ) p.8.i, T, £ NO. - .
MINIMUM TENSILE STRENGTH (ASTM D638 : 8,500 p.s.i, B/ 8 > ACCEPTANC
MINIMUN TENSILE MODULUS (ASTM~D638, ¢ 1,350,000 p.s.i I

MINIMUM BARCOL HARDNESS (ASTM D2583)

: 58
COEFFICIENT OF LINEAR THERMAL EXPANSION : 157 x 1075 (IN/IN/ F) . b "_ge _g* —
MINIMUM WATER ABSORTION (ASTM DB70)-24 Hrs. :.1624 hrs. © 7/ 4 b” GREATER THAN 4'-0" UP TO 5'-0" (SEE SCHEDULE)
SPECIFIC GRAVITY (ASTM D792) ;18 | o a
MINIMUM SELF IGNITION TEMPERATURE (ASTM D1929-914) : BBO" F %
FLASH IGNITION TEMPERATURE (ASTM D1929-914) : 650" F §
FLAME SPREAD INDEX (ASTM E—84—95) : 70 .
SMOKE DEVELOPED VALUE (ASTM E—84—95) : 130 ) £ s s s 0 —'Qﬁ
RATING (ASTM D635) : CLASS C-2 3 _ _l ;_E
. At e .
3. 2 LAYERS OF 0.400 IN THICK, EXTRUDED TWINS WALL HIGH IMPACT POLYPROPOLYENE g P a - a . I
COPOLYMER CROSS LAMINATED PLASTIC BOARD. THE .400° BOARD HAS A UNIT 3
WEIGHT OF 2000 GRAMS PER SG METER. % 0.400" THICK l I
4. (3) 8-10 MIL THICK LAMINATING OF PRIME 21 SERIES, TWO PART EXTERIOR GRADE " HORZgNTAL CELL
STRUCTURAL ADHESIVE. THE ADHESIVE IS AN ISOCYANATE/POLYMERIC BASED PRODUCT, | . Lwoanolzf EP\ ) .
5. EXTRUDED TWIN WALL CORE SHALL BE AS MANUFACTURED BY INNOPAC COMPANY, g |3 ol P oK ) \|\ o l .
4501 SPRING VALLEY ROAD, DALLAS TEXAS 75244. 3 2 HALF SIDE LAB )
MINIMUM DENSITY (ASTM D782-A2) 1 .900 gr/cc 8 LOCATION. g .
MINIMUM ELONGATION AT YIELD (ASTM D638) :9~-13x o 4
MINIMUM ROCKWELL R. SCALE (ASTM D7854) : 75-80 3 X ' I
MINIMUM WATER ABSORTION~24 hrs, 8 ASTM-D570 : 0.02 @ b _ld Y 4 3
MINIMUM COEFFICIENT OF LINEAR THERMAL EXPANSION (ASTM DE96) fy 3 . .
-30°C 100 C 112 a @ N ° o & °
rcroare s 54 X
30" C 70 60" C 21 § X
MINIMUM TENSILE STRENGTH (ASTM D6J3E) : 3,700~4,000 p.s.i, . | ] h i
MELTING FOINT 1 162°¢C, J24' F / \ 3 | Pagl RN
MINIMUM SELF IGNITION TEMPERATURE (ASTM D1929-91A) : 700° F g 4
FLASH IGNITION TEMPERATURE (ASTM 01925-91A) : 610 F h | o [ 4\ W TN { \
FLAME SPREAD INDEX - (ASTM E—84-95) : 185 S \ / i r s Y )
SMOKE DEVELOPED VALUE (ASTM E—B84—95) : 165 J 0§ < l g \
RATING (ASTM DE35) ! CLASS €-2 ] N f - N
6. MACHINE SCREW PLASTIC INSERT SHALL BE MADE OF HIGHLY LUBED AND \ .2 5 e "’ T T T _
NUCLEATED WITH CONCENTRATE TYPE 8 NYLON AND SHALL COMPLY WITH J DETAL 1/8 > T DETAL 1/8
THE Min. MECHANICAL PROPERTIES AS FOLLOWS : e S R % .
ASTM D 789 : MELTING POINT (“C) : 215218 § o . @ —Lty a
ASTM D 792 : SPECIFIC GRAVITY D114 )
ASTM D 789 : VISCOSITY (FORMIC RELATIVE) : 50 ® J
ASTM D 638 : TENSILE STRENGTH (m.s.i, : 12,500 " . .
ASTM D 638 : ULTIMATE ELONGATION (X : 30-40 | "
ASTM D 790 : FLEXURAL MODULUS (p.s., : 425,000 , . ;
ASTM D 790 : FLEXURAL STRENGTH m@" {) : 17,000 : a o s 3§ L
ASTM D 258 : IZOD IMPACT STRENGIH (Fi—Lbs/in) X . °
(Ft.~LbS./In.) NOTCHED : 1.0 i .
ASTM D 570 : 24 Hr. WATER ABSORPTION (X) 115 3 I
ASTM D 696 : goa};ncm;_m %_élsvm EXPANSION . .
: (In/In. F x P 44 £ .
7. P—20 PANEL SYSTEM : SURFACE BURNING CHARACTERISTICTS : A/ g 1 N . A/ a X
FLAME SPREAD INDEX (ASTM E—84-95) : 10, CLASS A P ] o
SMOKE DEVELOPED VALUE (ASTM E-84-95) : 155, CLASS A M
8. P-20 PANEL SYSTEM STRUCTURAL ADEQUACY HAS BEEN VERIFIED THROUGH TESTING 8 . A
BY HURRICANE TESTING LABORATORY, INC. REPORTS § : 3
1. G045-0210-97 5" x 8" PANEL PA-201, PA-202, PA-203 .
2. 0045-0210-97 4’ x 10° PANEL PA-201, PA-202, PA-203 - A/ 8 A /3
3. 0045-0210-97 4' x 8° PANEL PA-201, PA-20Z, PA-203 o ° < a . o
W/REMOVABLE STORM BAR §+—F - __1_ __________ —__1
o ° o - o a o 3

B/8 > & () 0.400" THICK 8" (Typ.)
B/ 8 VERTICAL CELL '
HALF SIDE LAP

LOCATION.
TYPICAL FRONT ELEVATION FOR P—20 PANEL
N T S
MIAMI-DADE CQUNTY
DURAFRAME 2000 / RETROFIT A5 onouN

DURAFRAME 2000, INC, | “we

IILIECOme.

8001 Gsargia Avenus / Sulte 9

( TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FLORIDA 13405 01-078
. 8595 gﬁl:ﬂfdﬂlbg},;,h.‘ﬂg, VIRGINIA GARDENS, Fl. 33166}
c Z'lg\'/’ : EE—DO&S?G;'é (305)871- 1831 e — T o = e DRAWING No
- WALTER A, TILLIT Jr. P. E, ! oo 97-83  |4/18/01 3
- v SHEET 7 OF 9

FLLL S e FLORIDA Lic. # 44167 ’ =
VA4




"b ”

0.050" THICK EMBOSSED FIBER
REINFORCED PLASTIC (FRP) SKIN
Cont. ALL AROUND

2 LAYERS OF .400" IN THICK,
EXTRUDED TWINS WALL HIGH IMPACT

POLYPROPOLYENE COPOLYMER CROSS

LAMINATED PLASTIC BOARD CORE.

8—10 MIL THICK LAMINATING OF
PRIME 21 SERIES, TWO PART
EXTERIOR GRADE STRUCT-ADEHESIVE
ISOCYANATE /POLIMERIC BASED.

.030° THICK EMBOSED SHEET

METAL ALUMINUM + CRYSTAL

COAT FINISH (3105—-H174 ALLOY)

Cont. ALL AROUND

SECTION A — A

g

7/16" HOLE FOR 1/4" 8
M. S. + PLASTIC INSERT
(PANEL' CONNECTION)

EDGE OF PANEL

/

T ——— oy s T o

”, N
h

0.050" THICK EMHOSSED FIBER
REINFORCED PLASTIC (FRP) SKIN
Cont. ALL AROUND

2 LAYERS OF .400" IN THICK,
EXTRUDED TWINS WALL HIGH IMPACT
POLYPROPOLYENE COPOLYMER CROSS
LAMINATED PLASTIC BOARD CORE.

N TS SN i S P AR Mt M M oo S g S S St v

[P RS . . et v M YO WS e it et A S St S st e o it s o ]

TYPICAL P-20 PANEL SECTIONS

T — ="
SN ¥ T N——

T
IR
(TYTRTITITN

A
gI

1.000"™ P-20 PANEL
T
P el Ty

- . 500"

SCALE : FULL

8-10 MIL THICK LAMINATING OF
PRIME 21 SERIES, TWO PART
EXTERIOR GRADE STRUCT-ADEHESIVE
ISOCYANATE /POLIMERIC BASED.

.030" THICK EMBOSED SHEET
METAL ALUMINUM + CRYSTAL
COAT FINISH 8.7105—H174 ALLOY)
Cont. ALL AROUND

AN

SECTION B — B

e haF core

SIDE (AP LOCATION

'§ (HALF CORE)

Q
§ (HALF CORE)

~ LDIST. BETWEEN

VERTICAL WEBS
SHALL BE .375" Max,

SIDE' LAP DETAIL AT 0.400" THICK

HALF CORE HORIZONTAL OR VERTICAL CELL

SCALE : FULL

APPROVED AS COMPLYING WITH THE

6757 SOUTH FLORIDA BUILDING CODE
250" 0625" pate O/ 2 col
SEE ELEVATIONS 2 ON R.125 \
ON SHEETS 2, 6 & 8 OF 11 BY. SION
FOR HOLE SPACING J - _l' pRODUCT CONTROL DIV
w ] . BUILDING CODE compumcagl:!:cgq
i 8 ACCEPTANCENO, Q1= 02012 <
/\/ 0 rooo*—" \ /~—X / T Ez==———=g J_
0625
MIAMI-DADE COUNTY
D .s00" R.125° AS SHOWN
DURAFRAME 2000 / RETROFIT
DETAIL. 1 SCALE
PLASTIC INSERT FOR M. S. PANEL CONNECTION '1_r__ DURAFRADIE 2000 INC. 4/18/01
DATE
SLOTED HOLE AT PANEL FOR pe— ILIECO . w0t et A Sute 80
S. S. M. S. CONNECTION DETAIL e o Sy e e 2 i o COMPANT | WEST PALM BEACK, FLORIA 33405 01-078
Phone : (305)871~1530 . Fax : (305)871—1511 DRAWING No
SCALE : FULL EB-0006719 L DESCRPTION M | eV Ne DEscmeTion 24TF
WALTER A TILLIT Jr. P. F. ? oD 97-83 4/18/01 J
FLORIDA Lic. # 44167 7 Py = . SHEET 8 OF §




MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f.) AND CORREPONDING MAXIMUM PANEL
DIMENSIONS AND ANCHOR SPACING SCHEDULE FOR CONCRETE & C. B. S. STRUCTURES

MINIMUM SEPARATION TO GLASS
MAXIMUM DESIGN MAXIMUM PANEL MAXIMUM PANEL | p_z0 pangs, w/ @), P-20 PANEL W/ (), MAXIMUM PANEL
LOAD "W” (p.s.f.) WIDTH "b” (Max.) LENGTH "h" (Mex.) |oR @) RETROFIT FRAME ALL |OR (@) RETROFIT FRAME 41| ANCHOR SPACING * |  CONFIGURATION
AROUND W/0 REMOVABLE |AROUND W/ REMOVABLE (CONCRETE OR C.B.S)
STorM BAR (9) + (1)  |sTorM BAR B) + @)
+70.0, -80.0 5'-0" 8'-0" 3" N/A 12" Dh [ s
b h
+70.0, —70.0 4’-0" 10'-0" 2 5/8” N/A 12" Dh [ s
b h
70.0, -80.0 4'-0" 8'—0" N/A 3" 12* m b m h
+70.0, —80. —~ - ——
(HORIZONT. OR VERT. (@) + ())) b I
A b b
” )
+70.0, —80.0 3'—6" 8'-0" N/A 3 12" E— N
’ (HORIZONT. OR VerT. () + @)) b !
A b b
” 1
+70.0, —70.0 4'-0" 8'-0" N/A 3 19" [ __]» L,
' (HORIZONT. OR VerT. (@) + {)) b !
A b b
X NOTES :
1. SEE ELEVATIONS 1 ON SHEET 2 & 2A OF 9 FQR ADDITIONAL_SPECIFICATIONS FOR THE CONNECTION THE
WITH TAPCON ANCHORS OF RETROFIT FRAMES (7)), OR @) TO EXISTING WALL. APPROVED AS compwmcc;xDE
A BUILDING
2. SEE ELEVATIONS 1 ON SHEET 5 OF 9 FOR ADDITIONAL SBECIFICATIONS FOR THE CONNECTION SOUTH Lo 200!
WITH WOOD SCREWS OF RETROFIT FRAMES (7), OR @) TO EXISTING WALL. DATE
BY
ON
pRODUCT OANTROL DIVISH
BUILDING cooecompumc;gmci "
ACCEPTANGENO,OL = ©20le .2

MIAM/-DADE COUNTY

DURAFRAME 2000 / RETROFIT AS_SHOWN

SCALE

/ |IL|ECO..=.\ DURAFRAME 2000, INC. | “wv’

8001 Gsorgia Avenue / Suite 9

C(Qa TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FLORIDA 33405 01-078
8335 N.W. J6th, St, Ste. 217, VIRGINIA GARDENS, Fl. 33166
@Z@ Fhone : (305)871-1836 . Fax : (30m)871-153]

EB-0006719 Y. No DESCRIFTION MIE | M. e OESCAPTION e DRAWING No

7, WALTER A. TILLT Jr. P. E. N o -3 || s
g;//5"7/0/ FLORIDA Lic. 4 44167 : - - 5 SHEET 9 OF 9
77




